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Tlheﬂguresmthenwgmindtcateﬁdlmrks

- Candidates are required to give their answers in their own words
‘ _as far as practicable

GROUP A
( Multiple Choice Type Questions )

1. Choose the correct altematives for any ten of the following
‘ 10 x 1= 10

f ) The modulatmg technique whlch is most affected by

o noise is

a PSK b AsK
o DPSK . d FSK

f)  Recovering mermati@n from a carrier is known as
| Démultlplexing - b) . Carrier recovery
¢) . Modulation ~~ - -~ @ Detection.
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ul) The nyquist sampllng rate for a stgnal band limited to

4kl-lzis
'a) 4kHz R b)"skH'z'
K2 2Kz @ 16kHz

£,

‘l'v) Pulse amplitude modulation isa process where by

= a) the posttion of the pulse is changed as a function

of the sample value
'b)  the width of the pulse 1s varied as a function of
time ‘ |
) the height of a pulse is maid proportional to the
_sampled value ' V
d)- <none of these T _ ;

V) ’Whlch of the followlng methods is employed in

E telephony?
2 FDM b TOM
o Both(@&®) =  d None of these.

'vi) Synchrohous'detecttoh is more dissdvantageOus than
a plmseshlfth'xgmethod .
b) envelope detectioh method
§  selective fltering method.
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i) Maximum value of modulaﬁon index for AM is
W mes
g 1 :d)‘“ - e
vit) In TV é&stéﬁ;, picture and sound respécﬁvely use
o i T
‘c).’ FMAM R ‘d) tAMAM
i) For globai kmnr’nupicatton number of satellite needed 1s
0 5 | a7
X Quanﬁsationoccurs!n |
A PCM e ‘\b-) DM
'xi) -~ For fhe genératidn of FSK4 t,\he' data pattefn must: be
| “givenin | o |
.a)‘ RZf;rm'
‘b) NRZform
¢ Any fortriét., |
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xﬂ) One of the main funcﬂons of the RF. anmllﬁers in a
superheterodyne recetver 18 to
a) . provide lmprove tracking
b) peth better adjacent channel rcjectlon ‘

‘ c) - increase the tumng range of the recetver

3 d)‘ i lmprove the reﬂection of the image frequency.

~ xﬂl) The bandwidth of an'N bit binary coded PCM signal for
: modulating a signal having bandwtdth of 'f Hz is

@ (f/NYHz ,s) (f/Nz)Hz
9 NHz ',szHz

xlv) The channel capacity of a band limited Gaussian
channel is given by \

a4 C=Blog‘2<(l+%)-t,
. . v. ; . —"‘ S - A l‘-
. T i 1 ‘ : ‘S. .
-
d) C=§h82(1’+ﬁ)~,'
xv) Thé bandwidth ‘required for tijans/nlit_ting 4 kHz sign’a‘i'v
~ using PCM with 128 qﬁéntiéation levelis '
a 8kHz b 16KkHz
o 28kHz . d 32KkHz
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 GROUP-B

( Bhort Anmr Type QGuestions ) |

Answer any three of the following. . 3x5 = 15

What is nyquist interval ? . -

‘.

What is foldt'ng frequency ? ’

Which kind of filter is used to demodulate a PAM

signal ?

What is apogee ? ; :

~ Define Azimuth angle.
What is the 'differcnce betWeen'g’eosynchronOus and
‘geostati‘onaxyvarbits ?
Discuss the advantages and disadvantages of
‘ geostationary orbit ? ‘ |

2 Why doweuseVSBineaseofplctureslgnal?

. What 1is synchronous detection ? Is it advantageous

R than non-coherent detection ? Explain

3. a
b
4. a)
b)
5 a
b)
6. a)
b
4151

What is S/N ratio ? Draw the block diagram for- the

: communkatton system

Why FM and PM waves are called inseparable ?
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GROUP . C

(Longhwer‘rype Questions ) |
. Answer any three ofthe following. 3 x15=45

7. a) State and prove sampling theorem Sketch a puele
amplitude modulator cricutt and explaln its operation.
ot Whatismeantbyaliaslngeﬁ'ect? o 5+44+2

b)" Cotnp‘are’lDMandFDM. ’ o | 4

8. W'a) : Draw the block diagram of a slmple superheterodyne |
| . receiver and explain its prlnciple - _ - 7

- b} What is image- frequency and how is it removed in
_ superheterodyne receiver ? | 4

8 ¢) For a saperheterodyne AM receiver having no RF
' amplifier, the Ioaded quality factor @ of the antenna

: coupling circuit is 100. Now lf the intermediate

frequency is 455 kHz the determine the image

' frequency and its rejection ratio at an lncomingx

/frequency of 1000 kHz, . 4

9a) Whatlsnolseﬁgure?%atisitssigmﬁcance? , 3
- : b) : Calculate ratio in DSM-SC schen{e - o 6
 ; ;c’) y,‘ Compare the AM, PM andFM in ter_ms of _noi_se. B ‘3’
d What is pée;gmphgs;s ;md de-eraohasie NFM? 3
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10. a) Draw the block dlagram of a PCM system (transmitter ;
,Landrecetverboth) o o Lo B

b ’Atelephonesignalhasama:dmumﬁ'equencyof4kﬂz |
"~ It is limited in voltage between +1V to - IV Itis -
‘transmltted by usmg PCM. The required SNR'ls 40dB.’
'What is the minlmum l)andwidth required for,v
'.f‘transmisslon? — oo B 4

¢ A televis:lon signal has a bandwldth of 4.5 MHz This o
v slgnal is sampled and converted lnto a PCM stgnal 6

'11. Write short notes on anyithre,e of the following bl 3 X 5'
) Balanced modulator | | |
b} FSK |

.9 Analogto-Digital Converter
§ PLL | ’

¢)- Tone Modulation.
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